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+» Read precisely , then choose the correct answer :

Diagnostic Mathematics Test for Primary Grade (3)

1) The table that represents the number 7305 is:

a.
Thousands | Hundreds Tens Ones
7 0 5 3
b.
Thousands | Hundreds Tens Ones
7 3 0 5
C.
Thousands | Hundreds Tens Ones
7 5 3 0
d.
Thousands | Hundreds Tens Ones
5 0 3 7

2) Three thousand fourteen is written as follows:

a. 3140
b. 3104
c. 1340
d. 3014

3)

The number 6250 is written as follows:

a. Six thousand two hundred five.
b. Six thousand two hundred fifty.

c. Sixty-two fifty.

d. Six thousand fifty-two.

4)

The place value of (1) in the number 1452 is:

a. 10000
b. 1000
c. 100
d. 10




5) The correct numerical expression among the following is:
a. 1121>1112
b. 3325 <3323
c. 1102 =1120
d. 5002 > 5020

6) The increasing order of the (24,80, 12,70, 99) are:
a. 12,24,80,70,99
b. 90,80,70,24,12
c. 12,24,70,80,99
d. 24,12,70,80,99

7) The decreasing order of the ( 106 , 160, 950, 222 , 210 ) are:
a. 106,160,210, 222,950
b. 950,222,210, 160, 106
c. 950,222,210, 106, 160
d. 950, 210, 222, 160, 106

8) The figure that represents (35) on the number line is:

———————————>
0O 10 20 30 40 50 60 70 80 90 100

, |

— | r—————— >
0O 10 20 30 40 50 60 /0 80 90 100

!

C. o * * * * * * * * * o~
O 10 20 30 40 50 60 70 80 90 100

* * * * * » . ">
d o 10 20 30 40 50 60 70 80 90 100




9) Choose the correct sign (90 30 = 60).

a' —_

b
C.
d

10) The sum of (425 + 532 = ------- ) is:
a. 952
b. 957
c. 847
d. 857

11) Add, then round (375 + 241 = ------- ) to the nearest hundred:

a. 400
b. 500
c. 100
d. 600

12) Calculate:
a. 4130
b. 3139
c. 4139
d. 3130

1629
To510

13) The product of (4 X 9 = ------- ) is:
a. 13
b. 32
c. 36
d. 45

14) The product of (5 x 1000 = ------ ) is:

a. 900
b. 50
c. 5000
d. 50000



15) Calculate: 32
X

182 4

36

128

218

o o o

16) The double of 4 ------- IS:
2

o oo
= 00 O
o

17) The difference of (701 — 600 = ------ ) is:
a. 111
b. 101
c. 11
d 1

18) Subtract, then round (438 — 167 = ------- ) to the nearest hundred:
a. 200
b. 500
c. 300
d. 400

19) Calculate:
a. 5055 7195
b. 5500 " 92140
c. 5505
d. 5550

20) Complete (27 + ------ =9):
a. 3
b. 9
c. 24
d. 81



21) Calculate (9 +9=----—-- ):
0

1

9

18

o o o

22) The half of 50 ------ Is:
a. 20
b. 23
C. 25
d. 26

23) The quotient and the Remainder of 2 I 482 are:
a. Quotient = 240 and Remainder = 1
b. Quotient = 241 and Remainder =0
c. Quotient = 214 and Remainder = 1
d. Quotient = 421 and Remainder =0

24) The Quotient for (2911 + 3 = ------ ) is: 970

a. 1

b 3 3[2911

c. 970 A

d. 2911 21
21
-V
001
00 O

001



25) Choose the figure that represents (% ):

26) Choose the fraction that represents the colored part:

1
a. —
4
1
b. =
3
3
c. —
4
4
d -
3




27) Which two shapes are similar?

1) (2) ©) (4) () (6)

MONC
- (2,0
- (1),
. (2).(6)

o O T o

28) The square is:

RVAN

1) () ©) (4)

)
- (1)
. (4)
- (2)

o O T &

29) The Right angle (L) is:




30) The order of the largest ball from right to left is:
a. Second
b. Fifth O
. Fifth eeee @@
d. Fourth

31) Choose the correct time:
a. 6:15 VS
b. 3:06 2

: 3
c. 3:30 ‘o r o
d. 4:30 R e

32) The length of the segment is:
. 5.5cm

a
b. 5¢cm ( ‘IIH|HII[III[]IHI|llIl]lll||llII|llll|HIIIIIII[IIII]IIII‘Illl]llll’lll[]l[lllllIl|llll|llll]llll‘Illl[llll’lIll]IIII‘[III]IIII|llll|lllll|lll|lIH|
C
d

. 45cm 001 2 3 4 5 6 7 8 9 10 11 12 13 14,15
. 4cm

33) Choose the unit of the measure of the pencil’s length:
a. m
b. mm
c. cm
d. km »

34) The length of the ant is 4.5 ------
a. km
b.m
c.cm
d. mm




35) Arrange from lightest to heaviest:
Car , Student , Chair , Plane , Book

a. Student, chair, book, car, plane.
b. Book, chair, student, car, plane.
c. Book, chair, student, plane, car.
d. Plane, car, student, chair, book.

36) The distance from Beit el Din to Baalbek is:

a. 36 km
b. 91 km
c. 99 km
d. 135 km

37) The number of wings for 9 birds is:
a. 9
b. 18
c. 36

. 16 A

38) The expression that represents the number of the books is:
a. 3x2=2+2
b. 3x2=3+2
C. 3x2=3+3+3
d 3x2=3+3




Fill in the blank:

a. 22
b. 20
c. 19
d. 23

40) Rami has 91 cars. He gave Sami 27 cars.
How many cars are left with Rami?

a. 91+ 27

b. 91-27

c. 91+27

d. 91 x27

Good Luck ......

sl plid o iS4 595a ]

— o



axl Gaa ) ) amly

A T2l (e RN Al il b amnd LAl
% e 3 gana i C %?@s a3l

Al el 1

....................................................... dujpdall e ]
................................................. i) cererreeeeeeeeeeeenennnns JAal@Y) (S

A 49l daa y g aSile DL
Aulata) eay g8 AU clald Y Be 8 sl
Nl ddgY clitad S 1
GLA Aoyl lgha J8 camtia JUEA) )5 42 G JLERY) Sl 2
ol s agia Jadd aalg a-b-c-d
el aY) Jay A a8 dgling Jlgw JS T8 3

Aaaall 4y Jiay A dijal) Jea B pag Al gliag

Exemple :

e Quel estlerésultatde2x3 =----- ?
a. 9
b. 12

@6
d.5

Avec des souhaits de succes a tous
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SI__=———%> Test de mathématiques diagnostiques pour la 3e année primaire

+ Choisissez la bonne réponse :

1) Quelle ligne représente le nombre suivant :7305

A

2) L’écriture en chiffre de trois mille quatorze est :
a. 3140

b. 3104
c. 1340
d. 3014

3) 6250 en lettre s’écrit :
a. Six mille deux cent cing.
b. Six mille deux cent cinquante
c. Six cent deux cent cinquante.
d. Six mille cinquante-deux.




4) Que représente 1 dans le nombre 1452 :
a. 10000

b. 1000

c. 100

d. 10

5) Laquelle des réponses est correcte :
a. 1121- 1112

b. 3325<3323
c. 1102 =1120
d. 5002> 5020

6) L’ordre croissant des nombres 24, 80, 12, 70, 99 est :
a.12¢24¢<80¢70¢99
b.90¢80¢70¢24¢12
c. 12¢24¢70¢80¢99
d. 24¢12¢70¢80+¢99

7) I'ordre décroissant des nombres 106, 160, 950, 222, 210
est:
a. 106 < 160 < 210 ¢« 222 < 950
b. 950 ¢ 222 <210 < 160 ¢ 106
c. 950¢222+¢210¢106 ¢ 160
d. 950 ¢210¢ 222 ¢<160 ¢ 106




8.)Dans quelle ligne la 35ieme place se trouve t-elle?

a.l

O 10 20 30 40 50 60 70 80 90 100
¢ * ¢ * ¢ ¢ ¢ * ¢ ® >

b.

da nsl

L ® ¢ ® ® ® g ® ¢ ® ">
O 10 20 30 40 50 60 70 80 90 100

C. 1

¢ ¢ ¢ * ¢ ¢ ¢ ® g ® ">
0 10 20 30 40 50 60 70 80 90 100

D. 1

¢ ¢ ¢ ¢ ® ¢ $ ¢ ® ® *>-
O 10 20 30 40 50 60 70 80 90 100

9.) Choisissez la signe convenable :

10.)Additionnez 425 + 532 =----?
a. 952
b. 957
c. 847
d. 857




11.) Additionnez puis arrondissez en centaine : 360 + 241=.....7

a. 300 - 100 =400
b. 200 + 300 =500
c. 300- 200 =100
d. 100 + 300 =400

12.) Additionnez :

a. 4130 1629
b. 3139 +

c. 4139 510
d. 3130

13.) La réponse de 4 x9=.... est:

a. 13
b. 32
c. 36
d. 45

14.) La réponse de 5x1000=...? est :

a. 500
b. 50

c. 5000
d. 50000

15.) Calculez :



a. 182

32
b. 36 o
c. 128 A
d. 218

16.) Le double de 4 est :
a. 2

b. 6

c. 16

d. 8

17.) Effectuez : 701-600 = ------- ?
a. 111

b. 101

c. 11

d. 1

18.)Effectuez puis arrondissez en centaine 438-167 =---?
a. 200
b. 500
c. 300
d. 400

7159

19.) Calculez : -
2104

a. 5055



b. 5505
c. 5550
d. 5500

20.) Completez :
27+ ——- =9

a. 3
b.9
c. 24
d. 81

21.)Calculez 9+9 = ----- ?

o 0 T o
O r O

=
(00]

22.) la moitié de 50?
a. 20
b. 23
c. 25
d. 26




23.) La quotient et le reste de division de 482 par 2 est :

a. 240 et lereste 1 |
b. 241etlereste 0 482 R
c. 214 etlereste 1 —
d. 421 et le reste O

24.) Quel est le quotient de la division de 2911 par 3 :

2- é 970
¢. 970 3 2911
d. 2911 27

N1
v

. . i 7
25.)Entourez la figure qui représente o

A




26.)Entourez la fraction convenable a la partie colorée :

S
S

=

o

.
Wl DWW W|ke

27.) Quelles sont les deux formes semblables :

o | WIN =m0

a. (1)«(4)
b. (2)¢(5)
c. (3)¢ (5)
d. (2) (6)

28.)Le carré est :?

(1)
2)

a. (3)
b. (1)
c. (4)
d. (2)




29.) L’angle droit est : L

b- —
i T___
d- \\

30.)Ll’ordre de la grande ballon de droite a gauche est?
a. 2eme

e Toblime eeee Oeoo

d. Quatriéeme

31.) Précisez le temps convenable :

.........

a. 6h 15 min :.~"'.” T

b. 3 h 60 min Lo o
w8 47



3 h 30 min

d. 4 h 30 min

32) La longueur de ce segment est :

11 12 13 14 . 1°
10 ﬁﬁl.

..CM
‘I|II|ll|I’IIII[IIII’IIII|IIIl|l||l]IIl||IlII[||II’|l|I|I|||‘llII|IIIl||lII|IIII|IIII|IIII‘IIII|III|‘IIII||IIl[III||H|I’IIlI|IIII]IIII|IIII|IIII[IIII|
a.5,5cm 001 2 3 4 B 6 7 8 9
b.5cm
c. 4,5cm
d. 4cm
33) L'unité de mesure d'un crayon est :
a. dm
b. Millimetre (mm)
c. Centimetre (cm) y
d. Km
34)La longueur de la fourmi est de 4,5 ----- ?
a. Km(km)
b. Métre (m) z . ‘.
c. Centimeétre (cm) ; :
d. Mm (mm) Q :
35)Ranger du moins lourd au plus lourd ?
Voiture, étudiant, chaise, avion,livre
a. Etudiant, chaise, livre, voiture, avion
b. Livre, chaise, étudiant, voiture, avion.
c. Livre, chaise, éléve, avion, voiture
d. Avion, voiture, étudiant, chaise, livre



36.) la distance entre Beit el-Din et Baalbek est :

Beyrouth

g 44km Beit el-Din 55km
m }’33 3

_n

b. 91 km

37.) le nombre d’ailes pour neuf oiseaux est :
a. 9
b. 18

c. 36
d. 16 A

L0
-

38.)Quelle expression représente le nombre de
a.3x2=2+2

% % dragon?
b.3x2=3+2

% % C. 3x2=3+3+3
% % d. 3x2=3+3

39.)Remplessez le trou

LI 1 1T 11




12 17 ? 27 32

a. 22
b. 20
c. 19
d. 23

40.)Rami a 91 voitures.
Il a donné Sami 27 voitures. Combien de voitures reste avec
Rami?
a. 91+ 27
b. 91- 27
c. 91+ 27
d. 91 x 27

Les questions sont terminées.



